

2 לפרק - 2 איברי 12N

איברי 12N 1

1. $\int \frac{x^3 + 9x^2 + 19x - 5}{x+5} dx$

$$\begin{array}{r} x^2 + 4x - 1 \\ x^3 + 9x^2 + 19x - 5 \\ \hline x^3 + 5x^2 \end{array}$$

איברי 12N

$$= 4x^2 + 19x - 5$$

$$- 4x^2 + 20x$$

$$= -x - 5$$

$$= \int (x^2 + 4x - 1) dx = \left[\frac{x^3}{3} + 2x^2 - x + C \right]$$

2. $\int \frac{3x^3}{x+5} dx$

$$\begin{array}{r} 3x^2 - 15x + 75 - \frac{375}{x+5} \\ 3x^3 \\ \hline 3x^3 + 15x^2 \end{array}$$

$$= -15x^2$$

$$- 15x^2 - 75x$$

$$= 75x$$

$$- 25x + 375$$

$$= -375$$

$$\int \frac{3x^3}{x+5} dx = \int \left(3x^2 - 15x + 75 - \frac{375}{x+5} \right) dx =$$

$$= \left[x^3 - \frac{15}{2}x^2 + 75x - 375 \ln|x+5| + C \right]$$

$$\int \frac{(x-1)^3}{x^3-x} dx = \int \frac{(x-1)^3}{x(x-1)(x+1)} dx = \int \frac{(x-1)^2}{x(x+1)} dx$$

$$= \int \frac{x^2-2x+1}{x^2+x} dx = \int \frac{x^2+x}{x^2+x} dx + \int \frac{-3x+1}{x(x+1)} dx$$

$$= x + \int \frac{-3x+1}{x(x+1)} dx$$

→ פירוק לגורמים

$$\frac{A}{x} + \frac{B}{x+1} = \frac{-3x+1}{x(x+1)}$$

$$A(x+1) + Bx = -3x+1$$

$$\left. \begin{array}{l} A + B = -3 \\ A = 1 \end{array} \right\} \rightarrow B = -4$$

$$= x + \int \frac{1}{x} dx + \int \frac{-4}{x+1} dx =$$

$$\boxed{x + \ln|x| - 4 \ln|x+1| + C}$$

2nd 3rd 2nd 2nd

$$\textcircled{1} \int \frac{3x}{3+\sqrt{3x+9}} dx = \int \frac{3x}{3+\sqrt{3x+9}} \cdot \frac{3-\sqrt{3x+9}}{3-\sqrt{3x+9}} dx =$$

$$= \int \frac{3x \cdot (3-\sqrt{3x+9})}{9-3x-9} dx = \int (-3+\sqrt{3x+9}) dx =$$

$$= -3x + \frac{(3x+9)^{\frac{3}{2}}}{\frac{3}{2} \cdot 3} + C = \boxed{-3x + \frac{2}{9} \cdot \sqrt{(3x+9)^3} + C}$$

$$\textcircled{2} \int \frac{5x}{\sqrt{x+4}-2} dx = \int \frac{5x}{\sqrt{x+4}-2} \cdot \frac{\sqrt{x+4}+2}{\sqrt{x+4}+2} dx =$$

$$= \int \frac{5x \cdot (\sqrt{x+4}+2)}{x+4-4} dx = \int 5\sqrt{x+4} dx + \int 10 dx =$$

$$= 5 \cdot \frac{(x+4)^{\frac{3}{2}}}{\frac{3}{2}} + 10x + C = \boxed{\frac{10}{3} \sqrt{(x+4)^3} + 10x + C}$$

$$\textcircled{3} \int \frac{1}{1-\sin x} dx = \int \frac{1}{1-\sin x} \cdot \frac{1+\sin x}{1+\sin x} dx =$$

$$= \int \frac{1+\sin x}{1-\sin^2 x} dx = \int \frac{1+\sin x}{\cos^2 x} dx =$$

$$= \int \frac{1}{\cos^2 x} dx + \int \frac{\sin x}{\cos^2 x} dx = \boxed{\tan x - \frac{1}{\cos x} + C}$$

2nd 3rd

$$\frac{ax+b}{x^2+px+q}$$

אינטגרל מרביע

3. טבלה

$$(k) \int \frac{x^2-2x}{x^2-4x+3} dx$$

נתיח בתחילתה בחיטוב

$$\frac{1}{x^2-2x} \sqrt{x^2-4x+3} \Rightarrow 1 + \frac{2x-3}{x^2-4x+3}$$
$$= 2x-3$$

$$= \int 1 dx + \int \frac{2x-3}{x^2-4x+3} dx =$$

$$= X + \int \frac{2x-4}{x^2-4x+3} dx + \int \frac{1}{x^2-4x+3} dx =$$

← נכנס נכנס

$$= X + \ln |x^2-4x+3| + \int \frac{1}{(x-1)(x-3)} dx$$

← 1

$$\frac{A}{x-1} + \frac{B}{x-3} = \frac{1}{(x-1)(x-3)}$$

$$A(x-3) + B(x-1) = 1$$

$$\begin{cases} A+B=0 \\ -3A-B=1 \end{cases} \Rightarrow \begin{aligned} -3A+A &= 1 \\ -2A &= 1 \end{aligned}$$

$$B = \frac{1}{2} \Leftrightarrow A = -\frac{1}{2}$$

$$= \left[X + \ln |x^2-4x+3| - \frac{1}{2} \ln |x-1| + \frac{1}{2} \ln |x-3| + C \right]$$

21

$$\int \frac{x^3}{x^2+6x+10} dx = \textcircled{\#}$$

31

$$\frac{x-6}{x^3} \sqrt{x^2+6x+10}$$

$$\frac{x^3+6x^2+10x}{x^3}$$

$$= -6x^2 - 10x$$

$$-6x^2 - 36x - 60$$

$$= 26x + 60$$

פירוק
לגורמים

$$\textcircled{\#} = \int \left(x-6 + \frac{26x+60}{x^2+6x+10} \right) dx = \int (x-6) dx +$$

$$+ 13 \int \frac{2x+6}{x^2+6x+10} dx - 18 \int \frac{1}{x^2+6x+10} dx =$$

$$= \frac{x^2}{2} - 6x + 13 \ln|x^2+6x+10| - 18 \int \frac{1}{(x+3)^2+1} dx =$$

$$= \boxed{\frac{x^2}{2} - 6x + 13 \ln|x^2+6x+10| - 18 \arctan(x+3) + C}$$

פירוק לגורמים

$$\frac{2}{2} \int \frac{x^2+1}{x^2+6x+9} dx = \frac{1}{x^2+1} \sqrt{x^2+6x+9}$$

$$= \frac{x^2+6x+9}{-6x-8}$$

$$\int 1 dx - \int \frac{6x+8}{(x+3)^2} dx = x - 6 \int \frac{x+3}{(x+3)^2} dx + 10 \int \frac{1}{(x+3)^2} dx =$$

$$= \boxed{x - 6 \ln|x+3| - \frac{10}{x+3} + C}$$

$$\frac{ax+b}{\sqrt{x^2+px+q}}$$

מבטן של ביטוי 4

$$\frac{1}{k} \int \frac{2x+3}{\sqrt{x^2+4x+13}} dx = \int \frac{2x+4}{\sqrt{x^2+4x+13}} dx - \int \frac{1}{\sqrt{x^2+4x+13}} dx$$

I II

I $2\sqrt{x^2+4x+13}$

הנאיך אנון, יתן ביטוי קבוע

$$\int \frac{1}{\sqrt{(x+b)^2+a^2}} dx = \ln((x+b) + \sqrt{(x+b)^2+a^2})$$

$$II = \int \frac{1}{\sqrt{(x+2)^2+3^2}} dx = \ln((x+2) + \sqrt{(x+2)^2+3^2})$$

$$= 2\sqrt{x^2+4x+13} + \ln(x+2 + \sqrt{x^2+4x+13}) + C$$

$$\frac{1}{2} \int \frac{5}{\sqrt{5-9x^2-12x}} dx = 5 \int \frac{1}{\sqrt{9-(3x+2)^2}} dx$$

$$\int \frac{1}{\sqrt{m^2-(x+n)^2}} dx = \arcsin\left(\frac{x+n}{m}\right)$$

הביטוי אנון

$$= 5 \arcsin\left(\frac{3x+2}{\sqrt{9}}\right) \cdot \frac{1}{3} + C = \frac{5}{3} \arcsin\left(x + \frac{2}{3}\right) + C$$

$$\underline{2.} \int \frac{17}{\sqrt{x^2 - 6x + 9}} dx = 17 \int \frac{1}{\sqrt{(x-3)^2}} dx =$$

$$= 17 \int \frac{1}{|x-3|} dx = \boxed{17 \ln |x-3| + C}$$

$$\underline{3.} \int \frac{1}{\sqrt{x^2 + 7x + 5}} dx = \int \frac{1}{\sqrt{(x+3.5)^2 - 7.25}} dx$$

$$= \boxed{\ln \left((x+3.5) + \sqrt{(x+3.5)^2 - 7.25} \right) + C}$$